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D 60+2.5 @)4.8+1.5 ® 8.64+0.48

@ 144+9.6 ® 26+3.25

B

@D 60 +2.5=600+25=24
@ 48+15=48+15=32
® 8.64 +0.48 = 864 + 48 = 18
@ 144 + 9.6 = 1440 ~ 96 = 15
® 26 + 3.25 = 2600 + 325 = 8
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@ 5.8 (@)6.2 ® 624 @65 © 6.64
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29.64 +[ | =4.78---0.004
[ ]=(29.64 - 0.004) + 4.78 = 29.636 + 4.78 = 6.2







200 : 120
D 2:12 @ 2:1 @5:3
® 12:20 ® 1:6

B

H] o] Agat o] 00] obd 22 5 FstAY
Hrol i v 9] gk 5yt ol 71x] go
U 4 gyt

200 : 120 = (200 + 2) : (120 + 2) = 100 : 60

200 +4) : (120 = 4) = 50 : 30

= (
= (200 +40) : (120 +40) =5: 3
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> Hg: 94.2cm

(AE°] 10cm® D)+ (AE°] 5ecmel Y)+(AE°] 15cmel YD)
= (10x 3.14) + (5 x 3.14) + (15 x 3.14)
=314+ 15.7 + 47.1 = 94.2(cm)
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- --18cm- -~
@ 30.14cm @56.520111 3@ 62.8cm
@ 68.16cm ® 78.5cm

1
:(18x2x3.14)x71x2

= 56.52(cm)
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19. ol 52 12602 Lol £ 44 54 227 75he 3.620] 1,
1 we] e 0,005 U T o @ S alnjelx] FakAl L.
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> e 45617

of@ 52 [ et shwl
+12.6 =3.62---0.005
= 12.6 X 3.62 + 0.005 = 45.617
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D 3.458 + A = 2.66 @ 6744+ A =562
@38.34 A =426 @ 25568 + A = 7.52

® 575+A =125
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w2t 60 = 4 = 15(71), 60 + 5 = 12(7H), 60 = 6 = 10(7)
o|B g A7|UGRE 15x 12 x 10 = 1800(7) 7} B 2 gt}
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(ABAZR ] S+ (A2l 4emdl YO PF)4(
4cm X 8)

= (6x4)+ (8x3.14) + (4 x8)

=24 4+2512+ 32

= 81.12( cm)
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> ®Hg D 21.5em?

= (10 x 10) — (10 X 10 x 3.14) X

100 — 78.5 = 21.5( cm?) Yt




